DATABASE MANAGEMENT SYSTEM-BAP-203
(Semester-1V)

Time Allowed : Three Hours Maximum Marks : 60

Note : Attempt two questions each from Sections A and B and the entire Section Ci
l SECTION-A

Definc and distinguish between traditional file processing system and database management
system. What are the advantages of DBMS ? 12
11. a What are the different components of database management system ? 4
b)  Who are the different users of the database system ?
C What are the responsibilities of DBA ? . 4
11, efine data independence. What are the different tl_y)pcs of data independence ? Explain. 12
V. a)  What are the purposes of DDL, DML and DCL ? 4
b) Define and distinguish between super key and primary key. 4
¢) Distinguish between generalization and aggregation. 4
_ SECTION-B
V. Write short notes on the following : _
a) _ Functional dependency. %b; Full'functional dependency.
c)  Partial functiona] dependency. (d) _Transitive functional dependency. (4x3=12)
VI. ¢fine database integrity. What are the different types of integrity constraints ? Explain.

12

What are the problems arising out of concurrency ? Explain. 6
VII. El], Define data rgcovcry. What arethe threats to database system ? Explain. 6 |
VI Yefine database security. How dalabase sccurity is implemented ? Explain, 12

SECTION-C

jons are compulsory: . S
IX. 46-‘1" quc[g}slstinﬁhish bctﬁ'ccn schema and instance.
(%
(8]

ou mean by three tier database architecture ? )
E m?ﬁ is tﬁc difference between weak entity sets and strong entity sets ? |

s|ational algebra. o \
d 8?&::'?3{:]2:{:1bt.l‘“l.l.%l authorization and authentication. }

: it f creating tables i -
{1") What-are the differcnt {Pﬁﬂf?ﬁs ?VCIERST dnloles in MS Access ? (6x2=12) |

\ -

éﬁlDBMS@ St T AT ? 13
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~ (b) _ 3 foaedi ufggH3 93 | _3erEn fAreH & ot ¥33 75 ? AHTTS | 6

(c) DBA &t dft fiiedin g ?
37 M3HIGITIZT UfTTTHS T3 | Ie WIHisasuzT @ -2y famy Aas T IR 1 1
(a) DDL,DML%3DCL®Gendtas?
(b) mug vt »3 yfendt drft & ufgsmz w@ w3 fegi fEG iza TR |
(c) Generalization "3 Aggregation &g »i33 &7 |
791 - B
J53I/E I

Ea)) FIAIHS feggaz (b) YIETIHSIHA f5a893 (x3-12)
c) MUIS Iaa3INd faggasT d) FEgHd Joa3Hd f5dgasT x3=

3oEN fesearaet ufaams a3 | %ﬁé@aﬂ%ﬁeﬁ@ﬁ%ﬁmaﬁaﬁ?mﬁ@ru
(a) Concurrency <Mt miffmret Stga ? G | 6

&b b bs

STean gftr § ufgemz 99 | BeEndl ndftm § fad g dizraie 3 ? Mm@ 12

gl - C

A3 RS &t 0% | .

(a) W w3 fRem @ fegaraniza ad |

(b) fHdmg IedR wigdicagd I oAt I=e I ?

(c) THITd NS HE w3 HE3 Wadld! e feg dtwizg der 3 ?

(d) foBHas »sHEd UlgsH3 ad |

(e) wiaaam3 < fegganizaad |

() MS.Access (g 285 gae @ Sy dar dt o6 ? (6x2=12)
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